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FEE#hnon—5— (N> KA RR)

£ 7 vz k4 BVW57H BVW63H BW65H BW75H
O # i H ke i A3851~ A2147~  [861100751099~ 861100812262~
HORE R (ZEEHURAE) kg 560 600 727 1010
Koy | BA& 68 PT | B oA EH OB GUESRM) | ML [ i * it fitt
TV URE | EERENA T A KU S| min 2600-50 2600-50 3150 325050
=74 K2 | min’! 130050 1300250 85030 12254125
( WHAKE ) C (80 ) (80 ) =) =)
( fE@E ) c (80 ) (80 ) (50~80) (50~80)
i E kPa 245 245 245~343 400~550
- (kgf/cm?) (2.5) (2.5) (2.56~3.5) | (4.0~5.6)
(o R ) 0 (85~90) (85~90) (80~120) (60~65)
( [E#E ) min! (12500 ) (12500 ) (2800 ) (13100 )
R o Em - AR mm | 0.16~0.20 | 0.16~0.20 0.1 0.15
- - PR mm | 0.16~0.20 | 0.16~0.20 0.1 0.15
(R ERF D Z4F) () (M) () ()
£ i 5 kPa 3.48X10° 3.48X10° 2.46~3.43 —
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(~V MMFL2T ) N (98 ) (98 ) =) =)
(kgf) (10 ) (10 ) =) =)
& AT MEOfE e AT HE km/h 3.5 3.5 5.5 5.0
GHEH % - &fh) =) =) =) -
R Tk L/min — — 45.0 54.0
MER T Ao 7k HE MPa — — 24.5 24.5
(G i) c =) =) (50~80) (50~80)
77 vFXE | Xy ¥ a SEEHE kPa — — _ _
rF7vAI (kgf/cm?) — — — —
L I P T KPa — — — —
(kgf/cn?) — — _ _
H (2 vaviiR) c - =) =) =)
(v P EfEE ) min’! =) =) =) =)
A= VX T Ny TV T Nem — — — —
& DA Ao MEfHT b v s (kgf + m) — - - -
“ F o — Lt B It
?4 ]\w/{7 = [l 1=:N mm — 7 o 7
NI Fa—otflonm | N | (=) | (=) | (=) | (=)
(kgf) =) =) =) =)
#*
HSTH i ERE ) MPa 10.3 10.3 20. 6 20. 6
- NI VU—7%y MNEAH (kgf/cn?) (105) (105) (210) (210)
= (M o) C (50) (50) (50~80) (50~80)
BA =T | KA =2 Y v T F v b Nem — - - -
2A4% HhEfHT b (kgf * m) — — — —
B A Y ERE [B5H] kPa — — — —
(kgf/cm®) — — — —
K BB R A R
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